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IFill in the blanks: (1X5=5)
rd 5 "
a. 3~ Carnatic war started due to the outbreak of the in
Europe.

b. Battle of Buxar was fought in

betrayed Siraj-ud-daula during the battle of plassey.
Hyder Ali attacked the British when they occupied the french port of

e. Thetreatyof ___ ended the 1% Anglo-Sikh war.

Il .Name the following: (1X5=5)

a. Name the Governal General who attacked the Sikh army.

b. The first Indian ruler to enter into the Subsidiary alliance.

c. The policy which was used by the British to remove Wajid Ali Shah fron
Avadh.

d. Indian soldiers recruited into the British army.
e. Name the war which broke out in Europe in 1740.

l.Answer in brief: (1X6=6)

a.Why did Tipu Sultan attack Travancore in 1789?

b.Who introduced subsidiary alliance?

¢.Who were the two opposing sides in the 1* Anglo-Maratha war?
d.Name the European nations that traded with India.

e.What was Ferman granted by Farruk Siyar.

f.Name the treaty signed after 2" Anglo-Mysore war.

V. Answer the following: : (2X5=1

a. What is doctrine of lapse? Name 2 states annexed under this pollcy?



ite any 2 advantages enjoyed by British from subsidiary alliance.
b- :Vrl the 1% Governor General of India.What were the steps taken by
ame

, AL : iod.
during his ruling perio

i iti he treaty of Lahore.

te any 2 conditions of t | i
iy :Jvfrr:r did the Sindhias and Bhonsles declare war against the British in 13

V. Answer in detail: (3X6=1

a. Explain the lessons learnt by British from the Carnatic wars.

b. Discuss the effects of the dual government.
c.What were the reforms introduced by Mir Qasim to reorganise B
administration?

d. Explain the importance of battle of Plassey.
€. Enumerate the causes of the Maratha failure.

f. What were the results of the Anglo-Mysore wa re

V1. Answer in detail: (5X3=

3. Enumerate the clauses of the subsidiary alliance.
b. Discuss the result of Anglo-Maratha war.
C. Explain the result of Battle of Buxar,

CIviCs

LAnswer the following:

a. What s veto power?



d. Why was the trusteeship council estalished ?

e. Where is the headquarter of ICJ?
f. Who is the head of the secretariat?

[I.LAnswer in detail;

a. Explain the objectives of the UN.

b. Enumerate the functions of the security council.

c. Mention the achievements of the UN.

{SX3=



